Uh. EDV l 006 ] B¢ EXhw |
SoLvTionsS To €R,. # 3,4¢
SHURLE KA \CA\.CuLusaufsn one . ORE-

@I‘ R oL (x=6tt3
i = £ = Qy=-2t

T: oy = L x‘rn,y’m?/ T V(= <6, -
=Y
= £, 9.-&7)
r=y

- L1, 8>

t=2 ——
BlS ,"‘Wuc — § \((:'H‘))l* (‘1 ; {.HT

72 ‘
g \36+L| d+=8\(§?d+.
|
c)  Glison § m = X (¥) c'=>7§fﬂ= 6t +3

‘fn('H: Y2 (t) -t-l‘-—l = -2+
e 51..: -2 -&'-: 'i‘ e V\a'l’ | i ‘h‘\e
4‘7 .tz 1-}-..,- =0 é-:) 2 ":“‘“ \dama.'\\\.
t | = ﬂ?‘ _ %_ -1 = O = (;'15)
p = ey

Ns  gsoluhow ; \(\%fﬁ e Col-\i&iuh\,

d) T t=x-t=—> yo (x1)-
D: »= =343
Y




3 W
- e = [_l"\' X4+ X X A -]
o) 5(“\ X I o1t 3 +\u'+-;‘-\..+\n
B 2 > Y W) s W
= X+ X+ X 4+ X % T X A= 2:_ Kol
2l 2! n hzp N
. 9 2 4 W+ |
L)) f}lx"\- X-‘r;__‘_\_ 15__‘ g A geae R &4
l? | Z 21 V\l‘

! w!
4 & 5 3 | . W
—:l+&(+9“\'1xza—f_+3_j+_7_'\_ sl B KL e
2! 2! 3! 3! |
=g
_ X 3
= {\"'X -[—-2—1 "*‘él + Wt .‘E— -i-lh] { X =+ 7':_\ . 3 3_;' -+ 1
W W o =i
- X 4| = 6 + X[ |+ %+ _>$_ _._+m+ Lm‘}
v! 2! 3! (-0l
— ex A xhex‘ ) of CMﬂN\AL@a
c:) l X ’ 2 .3 L W)
xe dK = S x+ X +_§;_ +§-—- s'-lh'* X o+ n di
L ) FASE Y| ni

; n+2 \
- ﬁ-\ué}—* _>.<-t'-— < E.i_*.u.-r % e
2z 3 4.2 ¢zl (hrdy



UH.EDv | BC Exdm {1 | 2006
§oL‘uT’!o~S‘ SHuR t£ KA

® 4,

s o = 2X
dx é
{
o) \\ | 'j solvbon  Hmagh (o)1)
5) N\, /
f__:_p-w- —____.-l_..-.-._j_.,,“.__,__,“__‘_}
€) Eulers Mebod: Ay 5.y y(o)=2  ax= 0.2
ol
X 3 A x L putebie )
) 2 o 4 =
0.2 2 0.8 -2 = 0.8 (%-0.2) = y (o)
0.4 2.16 |. 228 y-2a.16 =\.%28 (*-0.4)
9.6 [2.5056 | > 4=2.16 +13228 -0.2
\1(0-6) -

d) d.i:t __.5_ {g),ﬁ;(My) = 36‘34—%0{5})

=23+ 2% » [2x37= Y [! +?-><1‘j



